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QUESTION 1

What is a best practice recommendation for the automated system monitor? (Choose the best answer.)
A. It should only run on one client connected to the storage system.

B. It should be stopped during storage system normal operations.

C. It should be stopped during a controller firmware upgrade.

D. It should only be run on Windows server systems.

E. It should run on all storage manager clients.

Correct Answer: C

QUESTION 2

Which interface is used to view and change the logical structure of a storage system? (Choose the best answer.)
A. VI

B. Ldisk

C. EMW

D. Disk Manager

E. AMW

Correct Answer: E

QUESTION 3

Review the diagram.
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Is this cabling correct or incorrect, and why? (Choose the best answer.)

A. The cabling is incorrectbecauseeach controller goes to only one stack of disk shelves
B. The cabling is correct for the dual stack cabling method

C. The cabling is incorrect because it uses the top-down bottom-up cabling method

D. The cabling is incorrect because the controllers are cabled from the host port.

Correct Answer: B

QUESTION 4
With ALUA support, how does the storage system handle 1/Os to the non-preferred path? (Choose the best answer.)

A. The controller handles them normally, updating both controllers\\'cache to maintain consistency, which is why ALUA
requires cache mirroring to be enabled.

B. They are accepted but maintained in cache with a special change log, and only processed after 5 minutes when
volume ownership may be changed.

C. They are shipped over to the owning controller to be managed, then returned through the non-preferred path after
completion.

D. They are rejected with a specific SCSI check condition.

E. The non-owning controller takes ownership of the volume in order to handle them, then restores ownership to the
original controller.

Correct Answer: C

QUESTION 5

During normal operation, a failure was detected on an E-Series hardware component. Which tool could be used to
determine the location of the failed component and understand the potential recovery actions? (Choose the best
answer.)

A. Recovery Guru

B. Host Mappings tab

C. Real-time performance monitor

D. Unreadable sectors log

Correct Answer: B
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